== A
N = 0] &F AF S & AN A
20194 & =2 Xt
2N
=EE
ol ] CERED
5 - 4
SI(3) - MISAS - B2 Ol At o %@ﬁ HRE2
Z=0l 48,130, 161 46,631,987 1,498,174
= 28,272,723
g 1,268,349
= 4,551,775
Al 14,037,314
=) 1,162,274 630,369 531,905
o= 156,240
Al 1,006,034
1,162,274 630,369 531,905
o= 156,240
Al 1,006,034
BEad A =& Y G 22l 35,426 38, 126 A2,700
101 e1214| 3,600 3,600 0
04 JIZtHIZ22XNSES 3,600 3,600 0
OZ2EIX S#AFY AR (MY 2 HE
HAH ssaE £) 3,600
oJlea 100,000& »6H »6 3,600
Qe AH| 14,020 14,630 A610
A2 22| Hl 7,020 7,630 A610
OB =2H| 7,020
o BEE Y EEAE 22 29 3,340,000 3,340
0 RZRX, EEH HAS 89448
3,680,000 3,680
A2 S H| 7,000 7,000 0
OEEY FEAHA 7,000,000& 7,000
[0: 1] 806 896 A 90
= LH 04 dl 806 896 A 90
OEEg8:e = 806,000& 806
24l 2,000 2,000 0
T2 8] 2,000 2,000 0
O=232X 22 dEPL 500,000& x43| 2,000
ot A= 15,000 17,000 A 2,000
09 SHAIAHI EAZ 10,000 10,000 0
OSESULHANESL REBA 8,000,000& 8,000
OSER3N S /=24 2,000,000& 2,000
12 JIEtE A2 5,000 7,000 A 2,000
[ =R S 22XN=2 5,000,000 5,000
139,706 129,243 10,463
307 gizto| A 139,706 129,243 10,463
SY9HEX 110,906 100,443 10,463
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S FOISXD
Y 20t2E el 2 KW
o9 SEIUSY YA X

- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
301 Bt A= 957,440 444,000 513,440
== 156,240
Al 801,200
01 AR E & A 462 957,440 444,000 513,440
Oa=2=2&84+¢ 957,440,000& 957,440
= 156,240
Al 801,200
XA 22X JletE2Sd & X 4,310,395 3,958,290 352,105
=2 425,400
Fag 1,268,349
= 248,709
Al 2,367,937
2ol B & & 6,000 6,383 A\ 383
SN PSS ALY 6,000 6,383 A\ 383
301 et A= 6,000 6,000 0
01 Al B & A 462 6,000 6,000 0
OASPSLH L 2RO SATE
1,000, 0008 1,000
O AAL A Fotal OFX 2 40,0002 x5 5 1,000
OHAX HEAH| 20,000& x50 1,000
OgAX s232sH =2 1,000, 000& 1,000
OHAX HH KA 2,000,000& 2,000
XNEE2EXAY XS 4,304,395 3,951,907 352,488
= 425,400
g 1,268,349
& 248,709
Al 2,361,937
ABISX2 A 363,274 324,843 38,431
201 et | 23,600 44,000 N 20,400
01 AP 2t 2| H| 23,600 44,000 N 20,400
Ottt 2Y| 4,600
o A EX&E HRFX 4,600,000& 4,600
O =& 19,000
0 SHES AMISXNEEZ2RE =H &
19,000,000& 19,000
202 o4 | 4,500 5,000 A 500
01 2L HI 4,500 5,000 A500
OMSEX SRF4& 1,800,000 1,800
OXSAMIIEFHESE L HIIFX
2,700,000& 2,700
307 QI2t0| & 304,874 235,843 69,031
03 It HEHESIHIEX 41,314 40,593 721
OMESSXEAG &9 41,314,000 41,314
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S FZ=Exn
Hu: NAASER JBES L X

0

@2 XNEEXAE X (=& J)
SA - BB B () - MM - BES Ol &t o San HmEET
04 DI2HHALALSE E X 3,000 3,000 0
Ogtad 3.1 SEHN2S JISSAM
3,000,000& 3,000
11T M SXAISE EX 260,560 192,250 68,310
OAMSISXIF=2tH ALl 304 ALY 47,860,000& 47,860
ORESSAAY 120,000, 000& 120,000
OH8al LHMAIASI =S X ALA X CH 3]
4,500,000& 4,500
OZHAALSI S XA =0 SHIXIJ
7,200,000 7,200
Os4TGs BEALEETE L B
3,000,000& 3,000
ONAS ZOQIIE EIANE B3 & 2=
13,000, 000& 13,000
OZHAl ALSISXSALX X2
65,000,000& 65,000
402 2I2H X201 A 30,300 0 30,300
01 2IZE 2 A B (KM ) 30,300 0 30,300
OLURSHH Xt& JIs22AE 30,300,000 30,300
UESHESAREHHRIE(EX) 80,832 73,464 7,368
< 16,166
Al 64,666
307 glz2+ol & 80,832 73,464 7,368
< 16,166
Al 64,666
03 QIAHNHE2IHIEE 80,832 73,464 7,368
OXSSEEURSHH 29 80,832,000 80,832
< 16,166
Al 64,666
FOMETAAE A 2 XS 33,952 36,210 A2,258
201 2et24d] 17,958 19,550 A 1,592
01 At 22l 17,958 19,550 A 1,592
OB =+=EH| 12,438
o Q=X FRFA 2,760,000& 2,760
o RSAHIANXX 2tX 2=
1,380,000& »2H 2,760
oOMEBES Y HMAZRE P& 5,315,000 5,315
o FLUMEXAAMEA EE2 M
1,603,000 1,603
0=t 5,520
o =YU=EX HEFA 5,520,000 5,520
202 (4 Hl 5,994 6,660 A 666
01 = LH Yl 5,994 6,660 A 666
FUEX R4 5,994,000 5,994
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2N

=e =X

M NAAM2A=X Jletx=d & K&
el NE=sXAME X (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
206 M= Hl 10,000 10,000 0
01 =8l 10,000 10,000 0
ot 2 MHNSS 10,000, 000& 10,000
MIISX AL R 10,000 4,000 6,000
301 L2 A= 10,000 4,000 6,000
01 MEIBZE 06z 10,000 4,000 6,000
OMSI=SXAIE &2
=& &4 FE 500,000 2000 £ 10,000
MEIEXAE SAX W= 3,920 4,000 A 80
201 LBr2EH| 920 0 920
01 At 2t 2l 920 0 920
OBt~ 920
o0 AtBIZXIAIE SAA WS 920,000& 920
301 gt L= 3,000 4,000 21,000
09 SALAHIEA S 3,000 4,000 A 1,000
OMEIEXAE SAX s 3,000,000& 3,000
MISXNEXE S AISRRE 22| 124,960 81,200 43,760
301 LEtE A= 124,960 81,200 43,760
0B A =RRAB LS 124,960 81,200 43,760
O34l 6,000 x20 x84 H x12& 120,960
OMHEE Y 4,000,000& 4,000
ASISXEE S M E23 H2(EX) 393,000 269,000 124,000
= 393,000
301 gt L= 393,000 269,000 124,000
= 393,000
0B A=A A4S 393,000 269,000 124,000
0= 333,000, 000& 333,000
= 333,000
[ DEME==Nsl 47,000,000 47,000
= 47,000
O1 =l 13,000, 000& 13,000
= 13,000
AN dntel g (EX) 90,000 0 90,000
= 32,400
< 13,500
Al 44,100
307 glz2tol & 90,000 0 90,000
= 32,400
< 13,500
Al 44,100
11 ASI S XA E X 90,000 0 90,000




S FZ=Exn
Hu: NAASER JBES L X

0

el NIE=sXAY X (&)
SA - BB B () - MM - BES Ol &t o San HmEET
OECgnaNgNE 90 2 BEa
90,000, 000& 90,000
= 32,400
< 13,500
Al 44,100
OlTHEl 5 H XA(EX) 30,000 30,000 0
< 30,000
201 £B-2%H| 10,000 10,000 0
< 10,000
01 At 2t 2/l 9,000 10,000 A1,000
O2E==EH| 9,000
o OlMe = 9,000,000& 9,000
< 9,000
02 =224l 1,000 0 1,000
OO0IME s &SI SMR= S
1,000, 000& 1,000
< 1,000
301 gt d= 1,000 1,000 0
< 1,000
09 SALAHIEA S 1,000 1,000 0
ONMH2ES WU S 1,000, 000& 1,000
< 1,000
302 OI=LTHOH E &F = 19,000 19,000 0
< 19,000
02 QT A =S FESELS 19,000 19,000 0
Ol 24 =, ZHbE S 15,000, 000& 15,000
< 15,000
OoiZol BE4Y U SEARY RSB
4,000,000 4,000
< 4,000
NAMEHE AN 2 82,437 47,057 35,380
201 et 39,580 4,780 34,800
01 At 22/ 39,580 4,780 34,800
O2gx¢ 1,000,000 1,000
OXNS A EHE AN 233 &=
3,780,000& 3,780
OS8 S NAANSSBEEAN s &FH S
34,800,000 34,800
307 gl2tol & 42,857 42,277 580
03 BIAHMNHE2IHIEL 42,857 42,277 580
OX A EZEANM 224l 42,857,000& 42,857
KN SASI A A S AALS 3,271 3,608 A 337
201 L2l 1,111 1,208 A97




S FZ=Exn
Hu: NAASER JBES L X

0

e XNEESXAY X (e H)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
01 AP 22| H| 1,111 1,208 AN97
OBt =2H| 611
o NYASAHHI A HRFA 611,000& 611
[ PF=2=4:] 500,000 500
202 o4l 2,160 2,400 A 240
01 2L HI 2,160 2,400 A 240
OXNYGAIS HH A SRFA 2,160,000 2,160
KNAXEE AISIAHA EXNMIE(EX)(ME)(EX) 1,585,437 1,550,626 34,811
g 1,268,349
o= 158,543
Al 158,545
201 et d| 2,229 2,229 0
Fag 1,783
o= 222
Al 224
01 AP 2t 2| H| 2,229 2,229 0
Ottt 2Y| 2,229
o NEASIHBIA EXAIYE =&
2,229,000& 2,229
Fag 1,783
& 222
Al 224
307 2iz2to| A 1,583,208 1,548,397 34,811
Fag 1,266,566
& 158,321
Al 158,321
05 QIZ2tR E S 1,583,208 1,548,397 34,811
OXNIAS A A EXLAIY 1,168,308,000& 1,168,308
= 934,646
= 116,831
Al 116,831
OJAZ2HY 22 =220 414,900,000 414,900
g 331,920
& 41,490
Al 41,490
Al =2X 2 29 1,377,312 1,335,090 42,222
307 2iz2tol & 1,377,312 1,335,090 42,222
05 QIZ2tRE 2 431,451 416,285 15, 166
OZMAMIEXN2 2 431,451,000 431,451
10 A EXNAEEHESIGH EX 933,711 918,805 14,906
OMIETH S (LEEEZSAMIERR)
568,222,000 568,222
OAMBIEXZ 2 (MY ASI SR 2)
365,489,000 365,489
11 A EXAIEEX 12,150 0 12,150




2N

=e =X

B NAAS=X JBEE Y X8
@2 XNEEXAE X (&)
SA - BB B () - MM - BES Ol &t o San HmEET
OUSIHIALINZE(ZEESEAMIA=SAR)
4,050,000& 4,050
OSES ST (LHAS ST 2)
4,050,000 4,050
OZ0HO 22 NV (HLASI=XZ)
4,050,000& 4,050
ASI X2 SAR SE-Z(EX) 45,000 41,760 3,240
< 13,500
Al 31,500
307 gl2tol & 45,000 41,760 3,240
= 13,500
Al 31,500
10 AL SXNAIEEE2EH EX 45,000 41,760 3,240
OMSIEXZ BAR E8E 45,000,000& 45,000
< 13,500
Al 31,500
AP EX2 NEsX Z208 2Y(BX) 30,000 30,000 0
< 6,000
Al 24,000
307 glz2+0ol & 30,000 30,000 0
= 6,000
Al 24,000
10 ALSISXAIEEE2EHEX 30,000 30,000 0
OnS¢UsI(ZEE) 10,000, 000& 10,000
< 2,000
Al 8,000
Oaoimmel (2H) 10,000, 000& 10,000
< 2,000
Al 8,000
OZ2 0|2 2SI HH (ML)
10,000, 000& 10,000
< 2,000
Al 8,000
I ZZECYWIAAY(EX) 51,000 51,000 0
= 11,000
Al 40,000
307 glz2+ol & 51,000 51,000 0
S 11,000
Al 40,000
10 ALl SXAIEEE 2 H EX 51,000 51,000 0
OIZFEEUIANY 51,000,000& 51,000
< 11,000
Al 40,000
I zME 2 L HASS MEerd & 25,528,500 26,640,549 A 1,112,049
= 20,084,955
< 2,349,523
Al 3,094,022
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SN FUSKD
HE: 2O ZMY PBF Y HASE MO X
Sl RODIEMY 2T CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o dE = HRE2
0Ol &F 08
206 M = Hl 95,000 9,500 85,500
01 X2 H| 95,000 9,500 85,500
OEXJIsl &= 5,000,000 «191 S8 = 95,000
303 ZAZ2 2,100 2,100 0
01 ZAZ 2,100 2,100 0
OsSXJIsll 2 s8HsS E& 2,100,000 2,100
222X (8X) 777,098 609, 137 167,961
= 621,679
o=} 62,168
Al 93,251
301 et A= 777,098 609, 137 167,961
= 621,679
= 62,168
Al 93,251
01 A& A 2523 777,098 609, 137 167,961
O22=2X XSALY 777,098,000 777,098
= 621,679
= 62,168
Al 93,251
222X XNEAY 3,060 2,000 1,060
201 LBt 1,260 0 1,260
01 AP 22| H| 1,260 0 1,260
O2gs+¢ 1,260
0 ABHXNNA Mo s BHLY
1,260,000 1,260
202 044l 1,800 2,000 A 200
01 2L Y| 1,800 2,000 A 200
O 22X MHYZB KR SZ I A
1,800,000 1,800
ANZT EgAtd 22 IR (EX) 15,000 15,000 0
= 7,500
Al 7,500
201 LBt Y| 8,000 6,750 1,250
= 4,000
Al 4,000
01 AP 22| d| 8,000 6,750 1,250
OBt 2t| 8,000
o Al 2t2IAlE EE2 &, U A8 =
& AH S 8,000,000 8,000
= 4,000
Al 4,000
202 044l 1,000 750 250
=2 500
Al 500




SN FUSKD
Hu: [0 FME PE U HASE MBOE N
el 2IEME 2T (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
01 = LH 4 bl 1,000 750 250
OuSEHL (SE A Z2IAL WF0Hl)
1,000, 000& 1,000
= 500
Al 500
301 LEtE A= 6,000 7,500 A 1,500
= 3,000
Al 3,000
01 MEI2EZE+05l= 6,000 7,500 A 1,500
OAMdlZel0aX 2eXd(2g 2 Melxlzs
ol2dl , MEX Y, usEHH S) 6,000
6,000,000
= 3,000
Al 3,000
SHE AEY SEAMUIA XNB(BX) 159,600 159,600 0
= 111,720
Al 47,880
201 Let2d] 79,800 79,800 0
= 55,860
Al 23,940
01 At 22l 79,800 79,800 0
OB ==EH| 79,800
o AtcllZrelAteY EE22 M s 248 =
& AHl S 79,800,000 79,800
= 55,860
Al 23,940
301 e A3 79,800 79,800 0
= 55,860
Al 23,940
01 MI2ZHE +06l= 79,800 79,800 0
OAMAZelUAX 22X (JY L Mexlz
oSl MEX Y, usEHH S) 79,800
79,800,000&
= 55,860
Al 23,940
SEtAtel ZelAb 21l K& (XA 25,340 14,400 10,940
101 @124 dl 25,340 14,400 10,940
03 RIAHAZ 22+ 25,340 14,400 10,940
OSES At ZelAt SEFOHHl X &
10,000, 000& 10,000
OSS At ZelAt JIE=5 XI&  4,800,000& 4,800
OSe At 22l Ar HIt24Hl XI&
4,300,000& 4,300
OSe At 22l AF BASAH XI&
6,240,000 6,240
S A2 AL A X (BEX) 134,168 124,470 9,698




2N
X ZH -
L= B

el

A

oo
Ju
P b A
0z 0z &
flor por

k=
u oy

|_

= A

CHE - EI(SA) - NRAY - B S

Off &t 24

=

i
2

H

Al

63,334
70,834

H

Al

134,168

63,334
70,834

124,470

9,698

=
2
ry
Hu
o
HT
1

134,168,000&

= H

134,168

134,168

63,334
70,834

124,470

9,698

= N H

19,966,540
15,973,238
1,996,651
1,996,651

21,491,200

A 1,524,660

=z MW

19,966,540
15,973,238
1,996,651
1,996,651

21,491,200

A 1,524,660

19,966,540, 000&

= M W

19,966,540

19,966,540
15,973,238
1,996,651
1,996,651

21,491,200

A 1,524,660

H

343,360
343,360

429,200

A 85,840

H

343,360
343,360

343,360

343,360,000&

A

343,360

343,360
343,360

343,360

= N H

43,650
34,920
3,492
5,238

55,920

A12,270

= N W

43,650
34,920
3,492
5,238

43,650

FAHS =X 43,650,000

= H W

43,650
43,650

34,920
3,492
5,238

43,650

= M W

180,863
144,691
18,086
18,086

149,299

31,564

no
|




SN Fo=NY
HE: 2O ZMY PBF Y HASE MO X
Sl RODIEMY 2T CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
301 et d = 180,863 149,299 31,564
= 144,691
< 18,086
Al 18,086
01 MEI2EZE %06z 180,863 149,299 31,564
O=2JI==2 X H&EHWSAH 180,863,000 180,863
= 144,691
= 18,086
Al 18,086
mE= = 58,152 52,438 5,714
308 XXM SO A 58,152 52,438 5,714
08 WEII20HStE X 58,152 52,438 5,714
ORSS0H(AHIREZ) 58,152,000 58,152
HASE AKX HHE XA 4,000 4,000 0
301 et A3z 4,000 4,000 0
01 AR 2Z A5 3 4,000 4,000 0
O=WIx=4a8Zx=c & RPHIA ZHH
fEZ N 4,000,000& 4,000
MAs HAHES A2 N 25,000 25,000 0
301 et a = 25,000 25,000 0
01 MEIBZE 263 25,000 25,000 0
OdAs FHAHNES A2 28€E N
25,000,000& 25,000
HEY =88 MJ(EX) 84,816 0 84,816
< 42,408
Al 42,408
301 et a = 84,816 0 84,816
= 42,408
Al 42,408
01 MEIBZE 253 84,816 0 84,816
OE=E8 Iy & 84,816,000 84,816
< 42,408
Al 42,408
FEelLs i XA (BEX) 84,750 0 84,750
= 84,750
201 2et24d] 84,750 0 84,750
= 84,750
01 At 22l 84,750 0 84,750
OZF=R 223 Etidl XA 84,750,000 84,750
= 84,750
NASES AEAY X 3,492,335 3,355,782 136,553
= 2,699,763
< 226,718

w
|



2N
X ZH -
L= B

el

>
b-rare

=N
INZME 2 L HASS MBON X
SE NEAMY T

CHE - EI(SA) - NRAY - B S

Off &t 24

=

i
2

565,854

3,453

,642

A 189

3,453

,642

A 189

o AEANHXNE HRF2 1,474,000&

1,474
1,474
1,474
1,979
1,979
1,979

,602

,040

A 128

A61

= N H

2,596,039
2,076,831
207,683
311,525

2,744,633

A 148,594

[he}
2
e
%
M0
02
o

= HnH

3,000
2,400
240
360

,000

<

>

© e 40

= ey

L P

oo =
[==

HU
1K)
10
4
[pal

3,000,000

= W

3,000
3,000

3,000

2,400
240
360

,000

202 o4 Hl

=z N H

3,000
2,400
240
360

,000
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M RO|ZME P Y HASS MHOF XY
S MASSE UEMY X (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 MI2EZE+06l= 240,000 240,000 0
ONEZ2ZANY (2E2ERXE , SXE00)
240,000, 000& 240,000
= 192,000
< 19,200
Al 28,800
307 glz2tol & 2,347,039 2,495,633 A 148,594
= 1,877,631
< 187,763
Al 281,645
05 RIZIRIE 3 2,347,039 2,495,633 A 148,594
OXEZZ A (RIEDIR) 2,347,039,000& 2,347,039
= 1,877,631
< 187,763
Al 281,645
NedHd3(EX) 182,593 0 182,593
= 146,074
< 14,607
Al 21,912
301 et A=z 182,593 0 182,593
= 146,074
< 14,607
Al 21,912
01 MEIBEE 263 182,593 0 182,593
Otgzdes 182,593, 000& 182,593
= 146,074
< 14,607
Al 21,912
ez, NANEdE 2 ZANEdH22 (XY 324,227 307,660 16,567
SHH2E)(EX)
= 226,959
Al 97,268
307 21201 A 324,227 307,660 16,567
= 226,959
Al 97,268
10 ALSISXAIEEE2GHEX 324,227 307,660 16,567
OX X adH2Y 324,227,000 324,227
= 226,959
Al 97,268
N2z, NANEdE 2 ZANSHEH2S (A 27,831 0 27,831
dzel)(Ex)
= 19,482
Al 8,349
307 glz2+ol & 27,831 0 27,831
= 19,482
Al 8,349
10 ALSISXAIEEE2EHEX 27,831 0 27,831
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oSt HASE NEAY NE SiE)
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SA - B (SH) - MRAY - BYS e 2
OXE LTl At HH I =Hl Atedl 22l
27,831,000 27,831
= 19,482
Al 8,349
XNEHEH AL SEL(EX) 14,760 14,040 720
< 4,428
Al 10,332
307 21201 & 14,760 14,040 720
= 4,428
Al 10,332
10 AL SXAIEEE2EH EX 14,760 14,040 720
OXGXadyH SAHL SE2Y 14,760, 14,760
=) 4,428
Al 10,332
NATEEdH 29 4,850 65,500 A 60,650
201 Let24E] 4,850 5,000 A 150
02 8324l 4,850 5,000 A 150
OANEZEHI S Xl 4,850, 4,850
ng=sX 2susa 2 16,300 15,000 1,300
201 LEt2A | 16,300 15,000 1,300
01 AtR 2t 2l | 4,600 5,000 A 400
O E=EH| 4,600, 4,600
02 =224l 11,700 10,000 1,700
OZ2S2S2LMA 5,850, 5,850
OA & ZEHl S Xl 5,850, 5,850
DE=SNEHdAEH 2AXE 12,170 13,000 A 830
201 LEr2A | 10,370 11,000 A 630
01 At 2t2l bl 5,520 6,000 A 480
oO2et=ZH| 2,760
o NESXNEHA 23 2,760, 2,760
O= gl 2,760
o DE=XNZHAHH =& 2,760, 2,760
02 23=29gHl 4,850 5,000 A 150
OA & ZEHl Sl 4,850, 4,850
202 Oddl 1,800 2,000 A 200
01 = LH 4 Hi 1,800 2,000 A 200
OLE=XSAHH R2F2 1,800, 1,800
2E2sEUA=+SHYE S NA(EX) 267,652 181,507 86, 145
= 214,121
Al 53,531
307 glz2+ol & 267,652 181,507 86,145
= 214,121




AN =S
M RO|ZME P Y HASS MHOF XY
S MASSE UEMY X (&)
= _ — d =
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Al 53,531
05 RIZt &= 267,652 181,507 86,145
022520 Y= 422X E4SNA(S2IS
1) 96,488,000 96,488
= 77,190
Al 19,298
022520 Y= 422X 4B (WLIIS
£) 45,608,000 45,608
= 36,486
Al 9,122
02252300 Y= 23T 2LSNA(FEY
ISEEH) 125,556, 000& 125,556
= 100,445
Al 25,111
o=l XA 19,180 10,800 8,380
101 @124 dl 19,180 10,800 8,380
03 RIAHAZ 2T E =+ 19,180 10,800 8,380
Oz s &elAF BB FOHI 8,000,000& 8,000
OS2l A HIHE &I 4,000,000& 4,000
OS2I FAgAaH X3
4,680,000 4,680
Oz S0H&CA IIEE 2,500,000& 2,500
ez, NANEdE 2 FANEEH2S (XX 23,280 0 23,280
Y B2FNME)(EX)
= 16,296
Al 6,984
402 RI2EX 20| ™ 23,280 0 23,280
= 16,296
Al 6,984
02 QI E2AIE EZ (OIS ) 23,280 0 23,280
OX G ady 3o 23,280,000& 23,280
= 16,296
Al 6,984
ZHA=EXSE 14,863,570 13,404,945 1,458,625
= 7,762,368
< 1,797,303
Al 5,303,899
Mot ZoHel =Xs2 3,647,305 4,594,341 A 947,036
= 466,538
< 689,204
Al 2,491,563
ZOI=RAE JIsE2L MY 31,108 1,470 29,638
201 24| 400 400 0
01 At 22l 400 400 0
OBt~ 400
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202 O4dl 981 1,070 A 89
01 = LH 4 Hi 981 1,070 A 89
OZUeI=TAE RFA 981,000& 981
402 RIZEX20l ™ 29,727 0 29,727
02 RIZt Xt 2 AL EZ (OIS ) 29,727 0 29,727
OZMHAME0ISANAHE HS2LH XS
29,727,000& 29,727
oL Xl N (SXLXel)(BX) 280,904 227,040 53,864
= 140,452
< 56,181
Al 84,271
307 glz2+ol & 280,904 227,040 53,864
= 140,452
< 56,181
Al 84,271
11T MISXAIS EX 280,904 0 280,904
OF Ll SNLHel(BAHE )X
280,904,000 280,904
= 140,452
= 56,181
Al 84,271
O DXl XA (Lot Xtel)(BEX) 545,358 491,612 53,746
= 272,679
< 109,072
Al 163,607
101 1244 Hl 545,358 491,612 53,746
= 272,679
< 109,072
Al 163,607
04 JI2ZHHZ2XEES 545,358 491,612 53,746
OZL LXelAtY Lot dRtel (ML H )X
545,358,000 545,358
= 272,679
< 109,072
Al 163,607
ORI LRl X & (AR LX) (BX) 86,814 78,253 8,561
= 43,407
< 17,363
Al 26,044
101 @124 Hl 86,814 78,253 8,561
2 43,407
< 17,363
Al 26,044
04 It Z2XEES 86,814 78,253 8,561
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SA - BB B () - MM - BES Ol &t o San HmEET
OZHA LXelAtY Lot A Xtel (Al2EH) X &
86,814,000 86,814
- 43,407
< 17,363
Al 26,044
=N 2I(EX) 1,245,414 1,107,957 137,457
< 249,083
Al 996,331
307 gl2tol & 1,245,414 1,107,957 137,457
< 249,083
Al 996,331
10 AL SXAIEEE2EHEX 1,245,414 0 1,245,414
OZMAESE=IX2 2 1,245,414,000& 1,245,414
< 249,083
Al 996,331
ool MEOISXNIAMH 29(8X) 247,649 252,074 A4, 425
< 49,530
Al 198,119
307 glz2+ol & 247,649 252,074 N4,425
< 49,530
Al 198,119
10 ALSISXAIEEE2EH EX 247,649 252,074 A4, 425
O MEOSKNAUH 29
247,649,000 247,649
< 49,530
Al 198,119
Zoo+=HEAdHEHSIE (BEX) 161,975 155,454 6,521
< 32,395
Al 129,580
307 glz2+ol & 161,975 165,454 6,521
< 32,395
Al 129,580
10 ALSISXAIEEE2EH EX 161,975 155,454 6,521
OEMA=0SHHE 2 161,975,000& 161,975
< 32,395
Al 129,580
ZOHASKIAIE SAX S (EX) 85,900 81,800 4,100
< 25,770
Al 60,130
307 21201 A 85,900 0 85,900
< 25,770
Al 60,130
10 ALSISXAIEEE2IHEX 85,900 0 85,900
OZMAEXAE SAN E82E X2
85,900,000& 85,900
< 25,770
Al 60,130
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ANZEMHO ENWE(EX) 7,677 7,677 0
< 2,303
Al 5,374
307 gl2tol & 7,677 7,677 0
= 2,303
Al 5,374
11T AIS S RAEE = 7,677 7,677 0
OAZZe B 7,677,000 7,677
< 2,303
Al 5,374
A2 EZ(EX) 11,730 11,730 0
< 3,519
Al 8,211
307 glz2+0l & 11,730 11,730 0
< 3,519
Al 8,211
11T MISRASEX 11,730 11,730 0
OCZe MEES 11,730,000& 11,730
< 3,519
Al 8,211
AHMBOHel HoAAIE XNJAMH 2D (EX) 52,617 82,954 A 30,337
< 14,207
Al 38,410
307 21201 A 52,617 82,954 A 30,337
< 14,207
Al 38,410
11T AL S XA E = 52,617 82,954 30,337
OZOIEHYANLRRAMMEH 22 52,617,000 52,617
= 14,207
Al 38,410
HALROHO BOAL X 1,520 1,520 0
201 €24 1,520 1,520 0
01 At 2t 2l 1,520 1,520 0
OBt~ 1,520
o ZOHQEHOIAL HEFX 1,520,000 1,520
RO XIGAS THEAME 2I(EX) 237,207 211,917 25,290
= 50,441
Al 186,766
307 21201 A 237,207 211,917 25,290
< 50,441
Al 186,766
10 M2 SXNANEHE2IHEX 145,212 0 145,212
OX0e FAESAIE 2F(212H])
129,453,000& 129,453
< 25,890
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Al 103,563
OXHQ FUABSAE 2H(22lSHH|)
15,759,000 15,759
o=t 3,152
Al 12,607
11T AISIEXAIE EX 91,995 211,917 A 119,922
OXOQ 0OF2t Al ESAIY 61,995,000 61,995
o 12,399
Al 49,596
OXQ Oofsns 249 30,000,000 30,000
& 9,000
Al 21,000
0ROl RATHEAIE 2H(SH)(EX) 381,698 359,070 22,628
= 76,340
Al 305,358
307 2Iz2t0| & 381,698 359,070 22,628
= 76,340
Al 305,358
10 M SAAEEHESIGHEX 381,698 359,070 22,628
O HNATHEANE 29 381,698,000 381,698
=} 76,340
Al 305,358
o= 249 232,334 232,334 0
307 giztol A 232,334 232,334 0
10 MM SAANEEHESIGHEX 232,334 0 232,334
OXUMEE 29 232,334,000 232,334
A2EEO QI TVAIE X & 2,000 2,000 0
301 et A= 2,000 2,000 0
01 Al B & X 262 2,000 2,000 0
ORZLUS(0IHEYH) 0222 XA
2,000,000& 2,000
OO HFTAY 2RI (EX) 20,000 138,500 A 118,500
= 10,000
& 3,000
Al 7,000
402 SI2F 20| & 20,000 138,500 A 118,500
= 10,000
& 3,000
Al 7,000
02 X2 A E X (0| & THS) 20,000 138,500 A 118,500
OZMHAHTAIL (REE) JIsE2L ALY
20,000,000 20,000
= 10,000
o= 3,000
Al 7,000
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Sl KOF Zoje =2XEH (B9 ®R)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
AZTEOC SHEITACHMIIEI| X K& 15,400 0 15,400

301 Bt A= 15,400 0 15,400
01 M BEEE G2 15,400 0 15,400
OAMZLEOC SHIACKMIIHD| EX XS
15,400,000& 15,400
ZHORQl XHE X 3,143,971 1,847,107 1,296,864
= 2,095,930
= 364,320
Al 683,721
SONCI & XHE X 14,750 20,954 N6,204
201 LEt2 Y| 12,095 18,004 A5,909
01 AR 22| bl 7,245 13,004 N5,759
Oget=ZH| 4,245
o &Aoo XNsSx YRFA 1,000,000& 1,000
o MOHC MEXNY LRFX AMEES 7Y
584,000& 584
o A0S XNHSX F=XEX M 2,661,000 2,661
o294 1,000
o BRI AMIIdNE 2A=E 1,000,000 1,000
[ ==l 2,000,000& 2,000
02 53294l 4,850 5,000 A 150
OZ2Z2224 Al 4,850
o RIS XIIE REUHERZS  4,850,000& 4,850
202 04| 2,655 2,950 A 295
01 2LHOHI 2,655 2,950 N 295
O WEXNHXI dRF=& 2,655,000 2,655
SO QI eI X & 99,419 92,341 7,078
201 LEt2 Y| 2,585 2,585 0
01 AFR2t2ldl 2,585 2,585 0
O +=2H| 585
o oo HRFEAN MEES 7L
585,000& 585
O=2 Y| 2,000
o B2 HRFA 2,000,000 2,000
202 O B 864 980 AN 116
01 2L Y] 864 980 A 116
O HK 22 HRFX 864,000& 864
307 212t01 & 95,970 88,776 7,194
03 AAHNEESAHE=X 50,580 47,086 3,494
OXMAEHCIES ARA 2HH| 3,898,000 3,898
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Selr ZoH XX (&)
SA - BB B () - MM - BES Ol &t o San HmEET
OBEHZHLES AIRA 23]
3,898,000 3,898
OnsSTHMHAEZ AIRA 2EHl  3,420,000& 3,420
OAM2ZZ S AFRA 22dl 3,898,000& 3,898
OANZ OIS 2HAL 212l 22,685,000& 22,685
OAZZ0HR 3l X&E2AH 2,585,000 2,585

SO0tCIE o3 AIRA 23l 3,508,000& 3,508
OLZ TS AR 2Edl 3,508,000& 3,508
OSt=8TMBHA=SKIE ALR2A 29|

3,180,000 3,180
11T AL SXAEE = 45,390 41,690 3,700
OO0l ZHAANSAIY "HAQ = 020!

g ZZHE "(HHA=EX2) 2,430,000 2,430
OX X Z0HeI &3l otAH ==& 3 810,000& 810
OE=Zel XLIs3IIUs 1,440,000 1,440
OE=ZHel SEu=H 810,000& 810
OEIXNEH HEH3 900,000& 900
OHIXMEOCIS & A 1,530,000 1,530
O 2AASE) I Exd & DIUHI(BEHN

) 2,430,000 2,430
OBEHZHLIES StAH &3 900,000& 900
OMAS SH HHe 2= §sBESA(BEH)

1,800, 000& 1,800
OLsZH 3l otAH=+=&AS 810,000& 810
OAAUE L J=US(LSHM)

1,200,000 1,200
OANAZHLIES Bdn= 3,000,000& 3,000
OAIZ R GtAHZSII =& 810,000& 810
OEXZ0Io & HA(AIZ) 990,000& 990
O222 B= 0ISAL (AIZ) 1,000,000 1,000
OOl A Al&A Y JISS0tE (Al2)

700,000& 700

O=s0t212 & I8 A 990,000& 990
O=0t218 23 atAH=E3 810,000& 810
023y 2 MFXNY so0te! NEX sl (=0t

) 1,260,000& 1,260
O=012 82 =3stuad 1,530, 000& 1,530
O=0t210] 2HE= Atd WA 1,620,000& 1,620
OLZZHLEa otAH=EHs & 23

810,000& 810
OZJIJE ¢ 2EY oY 882 FHAEH

o el) 810,000& 810

O3Z29 Y JIE MMM
3,000,000& 3,000
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307 glz2tol & 401,200 0 401,200
= 280,840
< 24,072
Al 96,288
10 ALSISXAIEEE 22X 401,200 0 401,200
OE2Y FHREE HIAE 2IHXZ
401,200,000& 401,200
=2 280,840
< 24,072
Al 96,288
ZOHAENAH S ==cldl XA 10,000 0 10,000
301 et d = 10,000 0 10,000
01 MEIEBEZE 406z 10,000 0 10,000
OZMAEMO S =2lbl XS AY
10,000, 000& 10,000
HE2H AL (FU=SK) 38,820 38,820 0
Jl=23 Ul (==X 38,820 38,820 0
JI2dH(FU=X 1) 38,820 38,820 0
202 44l 33,600 33,600 0
01 S LHOIYI 33,600 33,600 0
OZE&Z 0l 100,000& 28X » 12& 33,600
203 YR =&l 5,220 5,220 0
04 FN2ELRZ=TH 5,220 5,220 0
O =X 435,000& x12& 5,220
Heas (==X 2,226,602 1,959,014 267,588
WEHAXS(FUEXL) 2,226,602 1,959,014 267,588
WEHHX S (=LEX L) 2,226,602 1,959,014 267,588
701 JIEtSI HSEES 2,226,602 1,959,014 267,588
01 JIEteI HE &= 2,226,602 1,959,014 267,588
092235 SE83H d&3  2,226,602,000& 2,226,602
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